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MR A5 BFEREL (F)
(mm) PR 1 [ 1 HER 2 [a] 2 2 PR 3 [E]F% 3
0.0 1148. 0 1149.6 | 1149.6 1143. 8 1143.8 1144.5
10.0 2621. 2 2617.1 | 2620.3 2612. 8 2619. 9 2614. 1
20. 0 4066.9 | 4054.8 | 4064.4 4053. 9 4060. 0 4052. 2
30. 0 5504. 1 5496.5 | 5501.6 5497. 3 5499. 8 5494. 6
40. 0 6924.3 | 6918.8 | 6921.5 6918. 2 6920. 5 6915. 7
50. 0 8343.7 | 8343.7 | 8343.6 8343. 6 8341. 4 8341. 4
A RBARBATH
S &N E R S HEE W R
4.1 EAG AT RAEEL Fi
CF — @ — k
i a':l
HT £0. 007 mm/Hz*, Nc. =0.007mm
4.2 MRS ARHL F,)
C. = D _ -k
" oF,
¥ 4=0.007 mm/Hz*, Jc, =-0.007mm
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u(Fi) AR AR EON iR 2 0.21 Hz? 0.007 mm k=2

u(Fo) WU FAREH R 7 0.21 HZ? -0.007 mm k=2




u( 8v) SR 1R 0.029 Hz> 0.007 mm k=43
u( Sw) K G NEIRE 0.004 mm 1 k=43
u(y) R =R G 0.68 Hz? 0.007 mm k=2
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